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; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
ZhLsh 1.00 | 0.00 ~ 467 5820 | #FnLs | 000 ~ 000 1.62 8.67 ZhLlst 1.00 | 5.00 ~ 5.00 5820 | FnS | 500 ~ 5.00 | 1.62 867
2 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z 5 — -~ — — |3mZE#BZ B -~ — — —
ZhLLst 1.00 | 000 ~ 702 89.10 | #hLlst | 000 ~ 0.00| 1.60 8.66 ZFhst 1.00 | 5.00 ~ 958 89.10 | FnS | 500 ~ 9.58 | 1.60 8.65
3 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZE#BZ B -~ — — —
ZhLLs 1.00 | 000 ~ 698 8847 | #nLs | 000 ~ 000 1.65 8.83 ZFhst 1.00 500 ~ 898 8847 | FnS | 500 ~ 898 | 1.65 8.83
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — -~ — — |3mZERBZ B -~ — — —
Zh s 1.00 | 000 ~ 695 8811 | #hiist 000 ~ 695|1.78 9.55 Zhst 1.00 500 ~ 862 8811 | Fns | 500 ~ 862|178 9.55
5 100kN/m#%#BZ5| 1.00| 000 ~ 0.06| 100.82 |3mZEBZB| — ~ — — — | 100kN/mi%#BZ5 | 1.00 | 1095 ~ 11.09| 100.82 |3mEHEZS -~ — — —
Zh st 1.00 | 0.06 ~ 784 100.00 | #nLst | 000 ~ 7.84 | 2.06 11.02 Fhs 1.00 | 5.00 ~ 1093 100.00 | #nsS | 5,00 ~ 1109 | 2.06 11.02
¢ 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ % -~ — — —
ZhLlst 1.00 | 000 ~ 680 85.97 | #FnLs | 000 ~ 000 1.62 8.68 ZhLlst 1.00] 500 ~ 878 85.97 | TnS | 500 ~ 878|1.62 8.68
. 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ# %% — - ~ — — |3mZERBZ B -~ — — —
Zh s 1.00 | 000 ~ 347 43.91 | #hbist | 000 ~ 347|221 11.84 Zhst 1.00 | 5.00 ~ 5.00 45.91 | TS | 500 ~ 500|221 11.84
g 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ#Z — -~ — — |3mZERBZ B -~ — — —
ZhLlsh 1.00 | 000 ~ 402 50.535 | #nLst | 0oo ~ 402|222 11.90 ZhLlst 1.00 | 5.00 ~ 6.00 50.35 | TnS | 500 ~ 6.00| 222 11.90
g 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B -~ — — —
ZhLlst 1.00 | 000 ~ 528 65.82 | Fnbs | 000 ~ 528|174 9.31 ZhLlst 1.00 500 ~ 5.70 65.82 | TS | 5.00 ~ 570 | 1.74 9.31
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ zhst ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
zhs ~ zh st ~ zhst ~ zh st ~




